                       Math 10031  Chapter 1, Sec. 1.6    Exponents  
                                Supplemental Problems 


Write in standard notation. 

1.   
[image: image1.wmf]7.23

 x  
[image: image2.wmf]4

10

                                  2.   1.300 x 
[image: image3.wmf]12

10

                        3.  
[image: image4.wmf]9.42

 x  
[image: image5.wmf]15

10


4.   5.270 x  
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Write in scientific notation.

7.  300,000,000                                   8.  273,400,000,000                 9.  12034000
10.  1067.045                                     11.  75300000                          12.  500 millions
Evaluate each exponential expression.

13.  
[image: image9.wmf]5

(3)

-

                                         14.   
[image: image10.wmf]3

7

                                        15.   
[image: image11.wmf]5

2


16.  
[image: image12.wmf]3

(2)

-

                                         17.   
[image: image13.wmf]4

(2)

-

                                   18.   
[image: image14.wmf]4

2

-


19.  
[image: image15.wmf]3

6

                                              20.   
[image: image16.wmf]4

4

-

                                      21.   
[image: image17.wmf]2

(5)

--


22.   
[image: image18.wmf]34

(1)

-

                                       23.  
[image: image19.wmf]4

(5)

-

                                     24.  
[image: image20.wmf]454

(1)2

-


25.   
[image: image21.wmf]9

10

                                            26.  
[image: image22.wmf]0

(156)

-

                                 27.  
[image: image23.wmf]1205

(1)(3)

--


28.   
[image: image24.wmf]2

(1.5)

                                       29.  
[image: image25.wmf]3

(1.01)

-

                                 30.  
[image: image26.wmf]2

(0.001)


31.   
[image: image27.wmf]2

(0.07)

-

                                  32.   
[image: image28.wmf]3

(0.08)

-

                                33.   
[image: image29.wmf]10

(0.01)

-


34.   
[image: image30.wmf]12

0

                                            35.   
[image: image31.wmf]0

15

-

                                     36.  
[image: image32.wmf]72

(1)

--


Which is larger?  Explain your answers. 
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Convert into scientific notation then compute, if possible:

   43.   (60,000)(70,000)                                   44.  (15 thousands) ( 2 millions)     

  45.   ( 1,400,000) (2000)                                 46.   (20 millions) 
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Evaluate the exponent first then compute the following expressions. 
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 Negative exponent means the number is a fraction!



Notes:  Negative exponents: is another way of writing a  fraction. Example:  
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   Ex:  So,    
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           (  This number is a negative fraction!)

Now, your turn to try these problems.

   Evaluate with negative exponents . Express answers with only positive exponents. 
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                              Answers  to  Supplemental Problems Chapter 1,  Sec.  1.6 

  1.  72300                                              2.   1,300,000,000,000                          3.   9,420,000,000,000,000

  4.   527,000,000                                  5.   234500                                             6.  63,400,000
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